
REF.

R
E
F
.

R
E
F
.

REF.

9'-6"

8'-8 1/2"

5'-9 1/8"6'-4 7/8"6'-10 3/4"

340 SF

WAITING
RX111

OFFICE
RX109

COUNS.
RX108

CONTROLLED
SUBSTANCES

RX103

Office
RX105

PHARMACY
RX102

STAFF
ENTRY
RX101

A7.1

A7.16.

A7.1

A7.1

8.

SCA

RX112A

SY

1

SY

3.

R
X

1
0

5

R
X

1
0

1
A

COUNS.
RX112

A7.1

5.

1SY

1SY

8'-10 3/4"

RX114

NO WORK

14'-3 3/4"

SC

SC

8
A8.1

6

A8.1

NO WORK

1
'-

8
"

2
'-

1
"

SO

A7.1

4.

14'-3 3/4"

7
'-

3
 3

/4
"

6
'-

1
0

 7
/8

"

A7.1

10.

A7.1

18

A7.1 17

16

10'-0"

A7.1

2

1"

A7.1

9.

5
'-

0
"

E
Q

E
Q

A7.1 12

HAZ STOR
RX113

A7.1

11.

2'-1"

1'-6"

Office
RX104

ANTI
RX106

HOOD
RX107

COUNS.
RX110

RX108A

R
X

1
0

8
B

RX109

RX111

RX106

R
X

1
0

7

R
X

1
0

4

R
X

1
1

2
B

RX113B

RX113A

9
'-

5
 5

/8
"

7'-8 3/4"

6
'-

8
 1

/2
"

3
'-

1
0

 1
/2

"

2
'-

9
 3

/4
"

R
X

1
0

1
B

4
'-

5
 1

/2
"

6'-2 7/8"

5'-5 7/8"

5'-0"

3

1

A8.1

2

A8.1

1
7

'-
1

 1
/4

"
1

0
'-

2
 1

/8
"

1
1

'-
6

 3
/8

"

5
'-

6
 3

/8
"

8
'-

0
"

1
0

'-
6

 1
/2

"

1SY

1SY

1SY

1SY

5C

6A

SCA

5C

5C

1SY

RX110A

2'-9"
3'-0"

RX110B

0"

4
A8.1

0
"

3'-9 3/8"

6'-0 7/8"

A7.1

5

4

COUNTER B

8'-4"

5
'-
0

"

3'-3 1/8"

14'-6"

1
'-

8
"

AL-W1 AL-W1

A
L-

W
1

2
'-1

"

8"

10'-0"

6 3/4"

1SY

SCA

SCA

HM-W3

HM-W3

5

A8.1

WORK STATIONS TO BE 

SYSTEMS FURNITURE 

SUPPLIED
AND INSTALLED IN THIS 

CONTRACT

1A
D

D

1A
D

D 1A
D

D

3'-0"

1A
D

D

1A
D

D

ÉåêáÅÜáåÖ
ÅçããìåáíáÉë
íÜêçìÖÜ
~êÅÜáíÉÅíìêÉ

ÇìäìíÜ=G=îáêÖáåá~G=íïáå=ÅáíáÉë

ïïïKÇëÖïKÅçã

Çê~ïå=ÄóW

ÅÜÉÅâÉÇ=ÄóW

éêáåíÉÇ=
å~ãÉW

êÉÖK=@W

ëáÖå=Ç~íÉW

Ç~íÉW

éêçàÉÅí=@W

ëáÖå~íìêÉW

Ryan Turner, AIA, ACHA, EDAC

ëÜÉÉí=íáíäÉW

ëÜÉÉí=
åìãÄÉêW

7/27/2023 4:07:32 PM

022003.00

Author

Checker

7/22/2022

Woodrow
Wilson
Keeble
Memorial
Health
Center USP
Compliance

A2.2

Pharmacy

100 Lake Traverse Drive
Sisseton, SD 57262
IHS Project #
HHSI102201800141

14817

1. General Notes apply to all drawing sheets.

2. Review the Construction Documents prior to start of construction. Notify Architect upon encountering any unforeseen
conditions, discrepancies, errors, or inconsistencies.

3. Work shall be done in accordance with all rules and regulations of all applicable safety and building codes. The General
Contractor is responsible for securing and paying for all permits required and for the scheduling of all required
inspections during the course of the project.

4. The General Contractor shall take precautions and be responsible for the safety of all building occupants from
construction procedures during construction to minimize disturbances to adjacent spaces and /or structures and their
occupants, property, public thoroughfares, etc. Maintain all required exits during construction.

5. All materials and systems shall be installed as per manufacturer's specifications and all construction shall be of industry
standard or better.

6. Do not scale drawings.  Verify all dimensions in the field for accuracy prior to construction.  No extra charge or
compensation shall be allowed because of difference between actual dimensions and those indicated on the drawings,
unless they contribute to a change in the scope of work.

7. In the event of conflict between data shown on drawings and data shown in the Specification, the Work of greater quality
or quantity shall be provided, in accordance with the Architect's interpretation, and no change in the Contract Sum will be
permitted.  Detail drawings take precedent over drawings of larger scope.  Notify Architect if at any time an error or
discrepancy is discovered.

8. Immediately notify Architect of any long lead items that will affect the completion date

9. All wood in contact with concrete or concrete block to be pressure treated - typical.

10. Provide metal backing and / or treated wood blocking for all wall mounted equipment (grab bars, toilet room accessories,
TV mounts, headwalls, equipment rails, etc.) Verify height and length with actual equipment.

11. Patch all disturbed fireproofing as required to maintain rating. Repair and install all fireproofing as required by code.
Fireproof any new penetrations required by the work. Refer to code summary for ratings.

12. All exposed metal to receive paint unless otherwise noted

13. All adjacent dissimilar materials to receive caulking, including equipment mounted to walls

Floor Plan General Notes
A Interior dimensions are to finished face of stud wall, face of masonry walls, to

centerline of columns or to other grid points unless otherwise noted. Dimensions
labeled as CLEAR or CLR indicate minimum distance to finished face of walls. Dimensions
are to finished face of existing walls if applicable.

B All interior door frames to be 4" from adjacent wall or centered between walls unless
otherwise noted.

C Furniture & equipment shown is for reference only and is not included in the contract.

D Coordinate size and location of all duct and shaft openings in walls and floors with MEP
consultant.

E Fire rated walls are indicated on the Life Safety Plan.

F All partitions are type "SC" unless noted otherwise

G Provide a corner guard where    symbol is shown at a  wall corner

1/4" = 1'-0"
1

New Pharm.

êÉîáëáçå=L
áëëìÉ åçK Ç~íÉ
^aa N OMOPLMTLOS



Door Types

TYPE "A" TYPE "B" TYPE "C" TYPE "D"

3
'-

1
"

7"

6"

6
"

6"6"

8
"

3
'-

1
"

2'-0"

6" 6"

3
'-

5
"

5
'-

1
0

"

6
"

3
'-

5
"

6
"

G9

G9

G2

**ALL NEW DOORS 

ARE TO BE SOLID 

CORE WOOD. 

SPECIES AND COLOR 
TO MATCH EXISTING. 

SEE SPEC.**

1A
D

D

Frame Types

HM-F1
Hollow Metal

FRAME WIDTH IS 2" UNLESS OTHERWISE DIMENSIONED. FRAME DEPTH TO 

MATCH WALL THICKNESS PER INDUSTRY STANDARDS UNLESS OTHERWISE 
NOTED. SEE DETAILS.

HM-Fx
Insulated 

Hollow Metal

SEE SCHED

S
E

E
 S

C
H

E
D

U
LE

SEE SCHED

S
E

E
 S

C
H

E
D

U
LE

4
"

AL-F1
Aluminum -

Thermally Broken

SEE SCHED

S
E

E
 S

C
H

E
D

U
LE

5/8" GYP. BD. EA. SIDE

MTL. STUD @ 16" O.C. FILL 

W/ BATT INSUL. SEE WALL 
TYPES

CONT. SEALANT 
BOTH SIDES

H.M. FRAME

DOOR PANEL; SEE TYPES

MTL. STUD CHANNEL - SEE 
STRUCT. FOR LINTEL

CONT. SEALANT BOTH SIDES

H.M. FRAME  

DOOR PANEL; SEE TYPES

METAL STUDS @ 16" O.C. 

FILL W/BATT INSUL; SEE 
WALL TYPES

STL. ANCHORS (3 PER JAMB, 

FLOOR CLIP EA. JAMB)

METAL STUDS (2)

5/8" GYP. BD. BOTH SIDES

Glazing Types

G2:   1/4" TEMPERED, CLEAR GLAZING

G9:    BALLISTIC GLAZING

Window Types

HM-W1

FRAME WIDTH IS 2" UNLESS OTHERWISE DIMENSIONED. FRAME DEPTH TO MATCH WALL 
THICKNESS PER INDUSTRY STANDARDS UNLESS OTHERWISE NOTED. SEE DETAILS.

3'-4"

HM-W3HM-W2

3'-0"

G9
G2

G9

S
E

E
 E

LE
V

A
TI

O
N

S
3

'-
0

"

3'-0"

4
'-

0
"

3
'-

1
0

"

AL-W1

4'-0"

G9

4
'-

0
"

1A
D

D

Wall Types

SCA

3 5/8" METAL STUD 
@ 16" O.C.

5/8" GYP.BD. EA. SIDE

BATT INSULATION
OPTION "A" ONLY

3.5" METAL STUB AT 1'-3.75" O.C. TO 

1/2" ABOVE CEILING W/ ACOUSTICAL 

INSULATION W/ 1/8" GWB BOTH 

SIDES. PROVIDE ACOUSTICAL 
INSULATION 2'-0" ON BOTH SIDES OF 

PARTITION ABOVE CEILING

S6CA
3.5" METAL STUDS AT 1'-3.75" O.C. 

INSULATION W/ 1/8" GWB BOTH SIDES. 

PROVIDE ACOUSTICAL INSULATION 2'-0" 
ON BOTH SIDES OF PARTITION ABOVE 

CEILING

3 5/8" METAL STUD 

CHANNEL

3 5/8" METAL STUD 

DEFLECTION TRACK

BASE - SEE 
SCHEDULE

1SA

3 5/8" METAL STUD 
@ 16" O.C.

BATT INSULATION
OPTION "A" ONLY

3.5" METAL STUDS AT 1'-3.75" O.C. 

W/ 1/8" FR GWB BOTH SIDES W/ 

ACOUSTICAL INSULATION TO 
SECURE

3 5/8" METAL STUD 

CHANNEL

3 5/8" METAL STUD 

DEFLECTION TRACK

BASE - SEE SCHEDULE

5/8" GYP.BD.

NOTE: ALL WALLS SHALL BE BUILT TO STRUCTURE ABOVE UNLESS OTHERWISE NOTED

4 7/8" 4 7/8"

SECTION 
@  FLOOR

PLAN 
VIEW

SECTION 
@ HEAD

SECTION 
@  FLOOR

PLAN 
VIEW

SECTION 
@ HEAD

SY

SAY

S6AY

3.5" METAL STUD AT 1'-3.75" O.C. W/ 

1/8" GWB BOTH SIDES TO STRUCTURE. 

DIAMOND SECURITY MESH ATTATCHED 
TO ONE SDE OF STUD.

3.5" METAL STUD AT 1'-3.75 O.C. W/ 

ACOUSTICAL INSUKATION W/ 1/8" GWB 

BOTH SIDES TO STRUCTURE. DIAMOND 
SECURITY MESH ATTATCHED TO ONE SIDE 

OF STUD.

6" METAL STUDS AT 1'-3.75" O.C.  W/ 

ACOUSTICAL INSULATION W/ 1/8" GWB BOTH 

SIDES TO STRUCTURE. dIAMOND SECURITY 
MESH ATTATCHED TO ONE SIDE OF STUD.

NON-RATED PARTITION ONE HOUR FIRE RATING
UL DES NO. U465

S
3.5" METAL STUB AT 1' 3.75" O.C. W/ 

1/2" GWB BOTH SIDES TO 
STRUCTURE

3 5/8" METAL STUD 

@ 16" O.C.

5/8" GYP.BD.

3 5/8" METAL STUD 

CHANNEL

3 5/8" METAL STUD 

DEFLECTION TRACK

BASE - SEE 

SCHEDULE

SECTION 
@  FLOOR

PLAN 
VIEW

SECTION 
@ HEAD

OPTION "O" - ONE GWB FACE ONLY

SO
3.5" METAL STUDS AT 1'-3.75" O.C. 
W/ 1/8" FR GWB ONE FACE ONLY

SC
3.5" METAL STUB AT 1'-3.75" O.C. TO 
1/2" ABOVE CEILING W/ 1/8" GWB 
BOTH SIDES 1SY

3.62" METAL STUDS AT 1'-3.75" O.C. 

W/ 1/8" FR GWB BOTH SIDES TO 

STRUCTURE WITH DIAMOND 
SECURITY MESH ATTACHED TO ONE 

SIDE OF STUD

ROOF OR FLOOR 

STRUCTURE

7A

6" METAL STUD @ 
16" O.C.

BATT INSULATION

METAL STUD WALL TO 
STRUCTURE

6" METAL STUD 
CHANNEL

6" METAL STUD 
DEFLECTION TRACK

BASE - SEE SCHEDULE

ROOF OR FLOOR 
STRUCTURE

5/8" GYP.BD.

ACOUSTIC SEALANT 
EA. SIDE

ACOUSTIC SEALANT

CLG WHERE APPLICABLE; 
SEE RCP

7 1/4"

SECTION 
@  FLOOR

PLAN 
VIEW

SECTION 
@ HEAD

CLG WHERE 
APPLICABLE; SEE RCP

SECTION 
@  FLOOR

PLAN 
VIEW

SECTION 
@ HEAD

1 5/8" METAL STUD 
@ 16" O.C.

1 5/8" METAL STUD 
CHANNEL

1 5/8" METAL STUD 
DEFLECTION TRACK

BASE - SEE SCHEDULE

5/8" GYP.BD.

2A
FURRING OVER 
EXISTING WALL TO 
STRUCTURE

Exterior Wall Assemblies

6" MTL STUD

1.2" RIGID INSULATION

2" AIR SPACE

FACE BRICK

1/2" GYP SHEATHING

BRICK TIE

5/8" GYP

BATT INSULATION

VAPOR BARRIER

BUILDING FELT

1.2" RIGID INSULATION

2" AIR SPACE

1/2" GYP SHEATHING

FACE BRICK

BUILDING FELT

8" CMU

AMBULANCE BAY WALL INFILLPHARMACY WINDOW INFILL

** FIELD VERIFY**

** FIELD VERIFY**

5/8" GYP

VAPOR BARRIER

6" MTL STUD AND BATT 
INSULATION

SHEETING

BRICK TIES

BUILDING FELT

MORTAR GUARD

FACE BRICK W/ FULL 
HEAD WEAPS

THRU WALL FLASHING

LEDGE ANGLE
SHEET MTL CLOSURE

2  10 BLOCKING

SEALANT BOTH SIDES

ALUMINUM WDW

** FIELD VERIFY**

SILL AND TRIM

2x6 
BLOCKING

ALUMINUM FRAMING

SEALANT W/ BACKER 
ROD

MEMBRANE 
FLASHING

BRICK SILL

SEALANT W/ BACKER ROD

METAL DRIP EDGE

GROUT FILL

ELASTOMERIC FLASHING

8" STUD WITH BATT INSULAION

SEE BRICK INFILL FOR MORE DETAIL

BRICK TIES

** FIELD VERIFY**

THRU WALL FLASHING

8" CMU W/ WEEPS

2x10 BLOCKING

MORTAR GUARD

SEALANT W/ BACKER ROD

MTL DRIP EDGE

ALUMINUM FRAMING

** FIELD VERIFY**

SELF ADHESIVE 
MEMBRANE FLASHING

8" CMU

2 x10 BLOCKING

SEALANT BOTH SIDES

SILL BELOW

WOOD BLOCKING

** FIELD VERIFY**

ÉåêáÅÜáåÖ
ÅçããìåáíáÉë
íÜêçìÖÜ
~êÅÜáíÉÅíìêÉ

ÇìäìíÜ=G=îáêÖáåá~G=íïáå=ÅáíáÉë

ïïïKÇëÖïKÅçã

Çê~ïå=ÄóW

ÅÜÉÅâÉÇ=ÄóW

éêáåíÉÇ=
å~ãÉW

êÉÖK=@W

ëáÖå=Ç~íÉW

Ç~íÉW

éêçàÉÅí=@W

ëáÖå~íìêÉW

Ryan Turner, AIA, ACHA, EDAC

ëÜÉÉí=íáíäÉW

ëÜÉÉí=
åìãÄÉêW

7/27/2023 4:07:32 PM

022003.00

Author

Checker

7/22/2022

Woodrow
Wilson
Keeble
Memorial
Health
Center USP
Compliance

A4.1

Schedules and
Types

100 Lake Traverse Drive
Sisseton, SD 57262
IHS Project #
HHSI102201800141

1 1/2" = 1'-0"
1

HM Door Head @ Metal Stud Wall
1 1/2" = 1'-0"

2
HM Door Jamb @ Metal Stud Wall

PHARMACY ROOM FINISH SCHEDULE

NO. NAME

FLOOR WALL FINISH CEILING

NOTESFINISH BASE NORTH EAST SOUTH WEST MAT'L FINISH
RX101 STAFF ENTRY SV COVE PNT-3 PNT-3 PNT-3 PNT-3 SACT

RX102 PHARMACY SV COVE PNT-1 PNT-1 PNT-1 PNT-1 SACT

RX103 CONTROLLED SUBSTANCES SV COVE PNT-1 PNT-1 PNT-1 PNT-1 SACT

RX104 Office VCT-1 RBR PNT-2 PNT-2 PNT-2 PNT-2 SACT

RX105 Office VCT-1 RBR PNT-2 PNT-2 PNT-2 PNT-2 SACT

RX106 ANTI SV COVE PNT-1 PNT-1 PNT-1 PNT-1 SACT washable

RX107 HOOD SV COVE PNT-1 PNT-1 PNT-1 PNT-1 SACT washable

RX108 COUNS. SV COVE PNT-3 PNT-3 PNT-3 PNT-3 SACT

RX109 OFFICE VCT-1 RBR PNT-2 PNT-2 PNT-2 PNT-2 SACT

RX110 COUNS. SV COVE PNT-3 PNT-3 PNT-3 PNT-3 SACT

RX111 WAITING VCT-1 RBR PNT-3/VWC PNT-3/VWC PNT-3/VWC PNT-3/VWC SACT

RX112 COUNS. SV COVE PNT-3 PNT-3 PNT-3 PNT-3 SACT

RX113 HAZ STOR SV COVE PNT-1 PNT-1 PNT-1 PNT-1 SACT

DOOR AND FRAME SCHEDULE - PHARMACY
DOOR FRAME

FIRE LABEL
HDW.
NO. NOTESNO. WIDTH HEIGHT TYPE TYPE

DETAIL

HEAD JAMB SILL
RX101A 3'-0" 7'-0" A HM-F1 1/A4.1 2/A4.1 -- 02

RX101B 3'-0" 7'-0" D HM-F1 1/A4.1 2/A4.1 08

RX104 3'-0" 7'-0" B HM-F1 1/A4.1 2/A4.1 04

RX105 3'-0" 7'-0" B HM-F1 1/A4.1 2/A4.1 04

RX106 3'-0" 7'-0" D HM-F1 1/A4.1 2/A4.1 01

RX107 3'-0" 7'-0" D HM-F1 1/A4.1 2/A4.1 01

RX108A 3'-0" 7'-0" B HM-F1 1/A4.1 2/A4.1 02

RX108B 3'-0" 7'-0" A HM-F1 1/A4.1 2/A4.1 -- 05

RX109 3'-0" 7'-0" B HM-F1 1/A4.1 2/A4.1 04

RX110A 3'-0" 7'-0" B HM-F1 1/A4.1 2/A4.1 02

RX110B 3'-0" 7'-0" A HM-F1 1/A4.1 2/A4.1 -- 03

RX111 6'-0" 7'-0" C HM-F1 1/A4.1 2/A4.1 -- 09

RX112A 3'-0" 7'-0" B HM-F1 1/A4.1 2/A4.1 02

RX112B 3'-0" 7'-0" A HM-F1 1/A4.1 2/A4.1 -- 06

RX113A 3'-0" 7'-0" D HM-F1 1/A4.1 2/A4.1 07

RX113B 3'-0" 7'-0" A HM-F1 1/A4.1 2/A4.1 -- 07

RX114 3'-0" 7'-0" D HM-F1 1/A4.1 2/A4.1 02

êÉîáëáçå=L
áëëìÉ åçK Ç~íÉ
^aa N OMOPLMTLOS

1 1/2" = 1'-0"
3

Head Detail @ Brick

1 1/2" = 1'-0"
4

Sill Detail @ Brick

1 1/2" = 1'-0"
5

Head Detail @ CMU

1 1/2" = 1'-0"
6

Jamb Detail @CMU

1A
D

D

NOT USED NOT USED

1A
D

D



ADA LOCKER

STAFF LOCKERS

2
'-

8
"

2
'-

8
"

1'-0"

9'-0"

SLANTED TOP

3
'-

6
"

1'-9"

PRINTER 
DRAWER

SOFFIT

2
'-

0
"

VALANCE

KNEE SPACE
W/ CENTER 
PANEL

KNEE SPACE
W/ CENTER 
PANEL

KNEE SPACE
W/ CENTER 
PANEL

1'-9" 2'-6" 2'-6" 2'-6" 2'-6" 1'-9"

P-LAM CTOP

1
'-

8
"

2'-8" 2'-0" 2'-9" 2'-0" 2'-9 1/4"

2
"

24" D PLAM BASE CAB

15" D PLAM 
WALL CABINETS

OPEN TO OTHER SDE

KNEE 
SPACE

TACK-ABLE SURFACE
W/ FRAME SURROUND

2
'-

0
"

1
'-

5
 3

/4
"

1'-6" 2'-5 3/4" 2'-0"

PRINTER DRAWER

SOFFITT

2'-6" 2'-6" 2'-6" 1'-3"

1"

P-LAM CTOP

24" D PLAM BASE CAB

3
'-

6
"

7
'-

2
"

15" D PLAM
WALL CABINETS

5

A8.1

1A
D

D

2'-9"

OVER-SINK 
EYE WASH

R.O. FILLER

SOFFIT

PT DISP.

4'-0"

3
'-

0
"

1'-6"

24" D PLAM BASE
CAB.

P-LAM CTOP

7
'-

2
"

2
'-

0
"

2
'-

2
"

SOAP DISP.

15" D PLAM WALL CAB

FILLER PANEL

FILLER PANEL

1A
D

D

1A
D

D

1A
D

D

MED PICK UP
STOR.

6

A8.1

7'-11 1/2"

6
'-

6
"

1A
D

D

2
'-

0
"

1
'-

8
"

1'-9" 2'-6" 2'-6" 2'-6"

PRINTER DRAWER

SOFFIT

OPEN TO OTHER SDE VALANCE

KNEE SPACE
W/ CENTER 
PANEL

KNEE SPACE
W/ CENTER 
PANEL

KNEE SPACE
W/ CENTER 
PANEL

P-LAM CTOP

1'-9"2'-8"2'-0"2'-9"2'-0"2'-9 1/4"

3
'-

6
" 24" D PLAM BASE CAB

15" D PLAM
WALL CABINETS

2
'-

1
0

"

3
'-

6
"

5'-4"5'-5 1/8"

3
'-

6
"

LOCKED 

NARCOTICS
CABINET

KNEE SPACE KNEE 
SPACE

24"D PLAM
DRAWERS

2
'-

1
0

"

1'-9"3'-6 1/2" 3'-2 3/8"2'-0"

PLAM C TOP

2'-0" 2'-9"

3
'-

6
"

1
'-

1
0

"
1

'-
8

"

3'-0" 3'-0"

7
'-

0
"

5'-6 1/8"

4'-3 1/8"

24" D PLAM
CABINET

15" D PLAM 
WALL CABINET

PLAM C TOP

2
'-

1
0

"

FIREPROOF 
CABINET

PT DISP.

EYE WASH

SOAP DISP. 

2
'-

6
"

1
'-

8
"

1'-3" 2'-6"

24" D PLAM BASE CAB

15" D WALL CABINETS

C TOP, BSP,SSP

3
'-

6
"

2'-1" 1'-9" 1'-9"2'-2"

2'-0" 2'-0" 2'-0"

MED STORAGE

24" D PLAM
OPEN SHELVING

5

A8.1

Sim

1A
D

D

3
'-

0
"

2'-0"

7
'-

0
"

2'-0" 2'-0" 1'-6"

1A
D

D

2'-0"2'-8" 2'-8"

3
'-

6
"

1
'-

1
0

"
1

'-
8

"

2'-6"2'-0"2'-6"

PRINTER 
DRAWER

SOFFIT

VALANCE

KNEE SPACE

P-LAM CTOP

15" D PLAM
WALL CABINETS

TACK-ABLE SURFACE
W/ FRAME SURROUND

KNEE SPACE

3
'-

0
"

1'-3" 2'-6" 2'-9" 2'-0"

2
'-

0
"

2
'-

0
"

2
'-

0
"

1'-3" 2'-6" 2'-9" 2'-0"

15" D PLAM
WALL CAB.

PT DISP.

SOAP DISP.

PLAM CTOP,
BSP, SSP

24" D PLAM
BASE CAB.

VERT GB

FILER PANEL

FILER PANEL

1A
D

D

1A
D

D

1A
D

D

2'-6" 2'-3" 4'-3 5/8" 2'-6" 2'-6" 2'-3" 2'-6"

5
'-

6
"

1
'-

8
"

15" D WALL
CABS

1A
D

D

WORK STATIONS TO BE 
SYSTEMS FURNITURE 
SUPPLIEDAND INSTALLED 
IN THIS CONTRACT

3
'-

6
"

1
'-

8
"

1
'-

1
0

"

7
'-

0
"

2'-0"1'-9" 2'-0"

15" D WALL SHELVING
OPEN TO OTHER SIDE

24" D PLAM
BASE CAB

MED SHELVING

24" D OPEN 
BASE SHELVING

PLAM C TOP

2'-9"2'-9"

5

A8.1

Sim

1A
D

D

3
'-

6
"

3'-0"1'-3"1'-9"2'-1"

15" D WALL SHELVING
OPEN TO OTHER SIDE

MED SHELVING

24" D PLAM
BASE CAB

24" D OPEN 
BASE SHELVING

PLAM C TOP

2'-0"2'-0"2'-0"2'-0"

1
'-

8
"

1
'-

1
0

" 5

A8.1

Sim
1A

D
D

ÉåêáÅÜáåÖ
ÅçããìåáíáÉë
íÜêçìÖÜ
~êÅÜáíÉÅíìêÉ

ÇìäìíÜ=G=îáêÖáåá~G=íïáå=ÅáíáÉë

ïïïKÇëÖïKÅçã

Çê~ïå=ÄóW

ÅÜÉÅâÉÇ=ÄóW

éêáåíÉÇ=
å~ãÉW

êÉÖK=@W

ëáÖå=Ç~íÉW

Ç~íÉW

éêçàÉÅí=@W

ëáÖå~íìêÉW

Ryan Turner, AIA, ACHA, EDAC

ëÜÉÉí=íáíäÉW

ëÜÉÉí=
åìãÄÉêW

7/27/2023 4:07:33 PM

022003.00

Author

Checker

7/22/2022

Woodrow
Wilson
Keeble
Memorial
Health
Center USP
Compliance

A7.1

Interior
Elevations

100 Lake Traverse Drive
Sisseton, SD 57262
IHS Project #
HHSI102201800141

1/4" = 1'-0"
1

Staff Entry - E
1/4" = 1'-0"

3.
East Island - S

1/4" = 1'-0"
5.

Controlled Substance
1/4" = 1'-0"

6.
Counter D Sink

1/4" = 1'-0"
8.

Med. Storage

1/4" = 1'-0"
4.

East Island - N

14817

êÉîáëáçå=L
áëëìÉ åçK Ç~íÉ
^aa N OMOPLMTLOS

1/4" = 1'-0"
9.

Patient Side Disp
1/4" = 1'-0"

10.
Provider Side Disp.

1/4" = 1'-0"
11.

Haz Med Receiving
1/4" = 1'-0"

12
Haz Med Sink

1/4" = 1'-0"
16

Anti Room North
1/4" = 1'-0"

17
Anti Room East

1/4" = 1'-0"
2

Counter C

1/4" = 1'-0"
18

Disp. South
1/4" = 1'-0"

3
Center Work Station

1/4" = 1'-0"
4

Counter B Back - Side2
1/4" = 1'-0"

5
Counter B Back2

LVL 3 BALLISTIC WINDOW
W/ SPEAK AROUND

LVL 3 BALLISTIC 

PACKAGE RECEIVER

SOAP DISP.

PT DISP.

PLAM C TOP BSP, SSP

24" D PLAM 

BASE CAB.

LVL 3 BALLISTIC 

PACKAGE RECEIVER

LVL 3 BALLISTIC WINDOW

W/ SPEAK AROUND

1A
D

D

1A
D

D


	Sheets
	A2.2 - Pharmacy
	A4.1 - Schedules and Types
	A7.1 - Interior Elevations


